
Variables 

• Geometry of Probe 
• Geometry of Load Cell 
• Orientation of Probe 
• Loads applied to the subject 
• Calibration Type 



H=21.6 mm 
D= 25 mm 

Sensing Surface 

160N compression, 30N shear 

Presenter
Presentation Notes
Don’t need to worry about forces being too high, just torques



Best Solution 
Cal B 
• Ty=30N(dh)=6Nm 
• Tx=160(dh)+30(dv)=6Nm  limiting eqn 

• Tz=30(dv)=3.4Nm 
• If dh=14.8 mm, dv=121mm 
• If dv=0mm,  dh= 37.5mm 

– 37.5-14.8=22.7mm spacing 

• Cal A will not work because 
Fy exceeds 125N  

 

121 mm 

Orientation A 
Orientation B 



Orientation C 

Cal A: 
• Tx=160(dh)+30(dv)=3Nm

– If dv=0, dh=18.75mm
– This is greater than the radius of the load

cell plus width/2 of probe (27.3 mm)

Cal B: 
• Tx=160(dh)+30(dv)=6Nm

– If dv=0, dh=37.5mm
– 37.5-(14.8+12.5)=10.2mm spacing
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